GES Geometry 1- Congruence and Triangles
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Parallel Lines and Transversals
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GSE Geometry 1- Congruence & Triangles 1.2 - Practice
Name: Date:

Parallel Lines and Transversals Practice

In problems 1 -4, assume that |, |l ,. Find the measures of 1 and £2.
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5. Given m|n and m/8 = 119°, find the measures of all the numbered angles in the figure.
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6. Given p|g, m£1 = 78°, and m£2 = 47°, find the measures of all the numbered angles.
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GSE Geometry 1- Congruence & Triangles 1.2 - Practice

In problems 7 - 10, assume a|b . Find the value of x.
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In problems 11 & 12, EHC—D find the measure of each numbered angle.
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Angles and Parallel Lines
In the figure, m£2 = 70. Find the measure of each angle.
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In the figure, m£7 = 100. Find the measure of each angle.
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In the figure, mZ3 =75 and mZ10 = 105. Find the measure
of each angle.
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Parallel Lines With Algebra Remember — drawings are not necessarily drawn accurately!
1 —3: Find the value of x in each question given that lines / and m are parallel. Check your answers by finding

the measure of each angle.
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8 —10: Given I || mi, find the value(s) of x and each angle.

ure to check for extraneous solutions.
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